0\,

moleXx

SPECIFICATION SHEET

FineAdjust Applicator

N4 63863-9000
, REVISION A

SCOPE

Terminal Series No Wire Size Insulation Diameter Strip Length

Awg (mm?) mm (in) mm (in)
50098 18-22 (0.80-0.35) 1.60-2.60 (.063-.102) 2.50-3.00 (.098-.118)
DEFINITION OF TERMS
BRUSH MoUTH

INSUATION
CRIMP

CONDUCTOR

BEND

BEND

CRIMP
HEIGHT

UP

TWISTING
/

DOWN

The above terminal drawing is a generic terminal representation. It is not an image of a terminal

listed in the scope

Page 1 of 4
UNCONTROLLED COPY




SPECIFICATIONS

Terminal Series No. Bellmouth Cut-Off Tab Max. Conductor Brush
mm (in) mm (in) mm (in)
50098 0.20-0.50 (.008-.020) 0.20 (.008) 0.00-0.50 (.000-.020)
Terminal Series No. | Bend Up Bend Down | Twist Roll Punch Width mm
Degree Degree Conductor Insulation
50098 6 2 5 5 1.60 2.80
The above specifications are guidelines to an optimum crimp.
CONDITIONS
After crimping, the conductor profile should measure the following.
Terminal Series Wire Size Crimp Height Pull Force Min
Awg (mm?) mm (in) N (Ibs)
50098 18 (0.80) 1.12-122 | (.044-.048) 88.0 (19.8)
50098 20 (0.50) 0.93-1.03 | (.037-.041) 58.7 (132)
50098 22 035) 0.87-0.92 | (.034-.036) 39.1 (88)

Pull Force measured with no influence from the insulation crimp

Page 2 of 4
UNCONTROLLED COPY




PARTS LIST

Item Number | Order Number | Eng Number Description Qty | Kit Part

1 634441605 634441605 Conductor Punch 1 Y
2 634451641 634451641 Conductor Anvil 1 Y
3 634462811 634462811 Insulation Punch 1 Y
4 634452817 634452817 Insulation Anvil 1 Y
5 634430002 634430002 Cut-Off Plunger 1 Y
6 634430012 634430012 Front Plunger Retainer 1 Y
7 11-24-1067 4996-4 Cut-Off Plunger Spring 1

8 11-40-4039 8302-5 Front Plunger Striker 1

9 634430021 634430021 Lower Tooling Key i

10 634436011 634436011 Rear Cover 1

11 11-18-4083 60707-8 Front Cover 1

12 634432409 634432409 Anvil Mount 1

13 634434005 634434005 Wire Stop 1

14 634430009 634430009 Scrap Chute 1

15 638004900 638004900 FineAdjust Applicator 1

70 638639070 638639070 Tool Kit (All "Y" Items) 0

NOTES

1. We recommend an extra perishable tooling kit be maintained at your facility.

2. Verity tooling alignment by manually cycling the press and Applicator before crimping under
power.

3. Slugs , Terminals, Dirt and Oil should be kept clear of work area.

4. This Applicator should only be used in a press with a shut height of 135.8 mm (5.346”).
Tooling damage could result at a lower setting.

5. ** CAUTION** To prevent injury never operate this Applicator without the guarding
supplied with the press or wire processing machine in place. Reference the press or wire

processing manufacturer’s instruction manual.

6. Wear safety glasses at all times.

Page 3 of 4
UNCONTROLLED COPY




ASSEMBLY DRAWING

The drawing below is a generic drawing representation. Some detail may not be shown.
The FineAdjust applicator assembly and parts list can be found in the FineAdjust manual.

*10-32 X Y4
B.H.C.S.

M4 X 10 LG.
B.H.C.S. (2)

M3 X 6 LG.
S.H.C.S. (2)

M4 X 10 LG.
B.H.C.S.

i W V .
e " (0
T L
M4.X 20 LG. - /, - 3MM X 6 LG.
SH.C.S. % %\ ROLL PIN
M4 X 50 LG.

S.H.C.S.

Page 4 of 4
UNCONTROLLED COPY




‘\ Y MOSCHIP RU g)?ﬂ%?aﬂ:wx KOMMOHEHTOB +7495668 12 70

© BMECTE Mbl CO3LLAEM BYOYLLEE B8 info@moschip.ru

O6LLecTBO C orpaHMYeHHON oTBETCTBEHHOCTBIO «MocHuny WMHH 7719860671 / KIMNM 771901001
Appec: 105318, r.Mockea, yn.LLlepbakoBckas 4.3, odmc 1107

[aHHbIn KOMMNOHEHT Ha TeppuTopun Poccuinckon depepauumn

Bbl MoxeTe npuobpectu B komnaHun MosChip.

[lnsa onepaTtuBHOro ocdopmnenus 3anpoca Bam HeobxoomMmo nepenT No faHHON CChISKe:

http://moschip.ru/get-element

Bbl MoxeTe pa3mecTuTb Y Hac 3aka3 and nboro Bawero npoekTa, 6yab To
cepuiiHoe Npomn3BOACTBO MM pa3paboTka eguHUYHOro npubopa.

B Hawem acCcCopTnMeHTe npencTasiieHbl Begywmne MmpoBblie NMPoOnN3BOANTENIN aKTUBHbIX U
NacCUBHbIX 3JTIEKTPOHHbIX KOMIMOHEHTOB.

Hawen cneumanusauuen sBnseTcs NOCTaBKa 3N1EKTPOHHOMW KOMMOHEHTHON 6a3bl
OBOWHOro Ha3HayeHus, npoaykummn Takmx npounssoantenen kak XILINX, Intel
(ex.ALTERA), Vicor, Microchip, Texas Instruments, Analog Devices, Mini-Circuits,
Amphenol, Glenair.

CoTpynHMyecTBO € rnobanbHbIMU OUCTPUOLIOTOPaMN 3NEKTPOHHBIX KOMIMOHEHTOB,
npegocTraBnseT BO3MOXHOCTb 3aKa3blBaTb 1 MOfly4aTb C MEXAYHAPOOHbIX CKNaaos
npakTuyecku nobon nepeyeHb KOMNOHEHTOB B ONTUMarbHble aAnsa Bac cpoku.

Ha Bcex aTanax pa3paboTKu 1 NPOM3BOACTBA HalLW NapTHEPbI MOTYT NOMy4YnTb
KBanumunpoBaHHy NOAAEPXKY OMNbITHbIX UHXEHEPOB.

Cuctema MeHeXMeHTa KayecTBa KOMNaHum oteevaeT TpeboBaHNAM B COOTBETCTBUM C
rOCT P MCO 9001, TOCT PB 0015-002 n 3C P, 009

Odomc no pabote c OPUANHECKUMU NTULLAMMU:

105318, r.Mockea, yn.lWepbakosckaa a.3, ocdomc 1107, 1118, AL, «LUepbakoBcKkuniny»
TenedoH: +7 495 668-12-70 (MHOrokaHanbHbIN)
dakc: +7 495 668-12-70 (006.304)

E-mail: info@moschip.ru

Skype otaena npogax:
moschip.ru moschip.ru_6
moschip.ru_4 moschip.ru_9


mailto:info@moschip.ru

